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The flgures ln the margln lndlcate
full mo;rks lor the questlons,

Answer ang fiue Etesttons out of etght.

1. (a) State which layers of the ISO OSI inodel
the following device operates.

5

(i) Repeaters

(it) Bridges

(iir) Routers

(iu) Gateways

(u) Hub.

(b) What do you mean by multiple access
communication ? What is the role of

3+4

Contd.

MAC layer protocols ?



A--
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8

(c)

(a)2.

(c) What is a Domain Name Service /
2

(a) A router has the follou,ing (CIill?)
entries in its routing tabl. : {rDiscuss all the fields of IEEE aO2'3

MAC frame format in detail'
o

(b) An ALOHA network user I9'2KbPs
channel for sending message packets
of lOObf/ long size. CaicLtliLt'" l1'''
maximum throughput for prlr'(' '\ i { ;' i

network.

(c) What is the difference bettr.t','t, '
address, Logical addrcs;:;
address with examples.

(a) What are the difftn:il ,

detection meth ocl s ,

code for 1 1(J 1 l,' ' '

G(")= x3 - x'- l

(b) Drau' thc sencrt'r. ,:,
for a s\-stern us;r:. ,

the foliori.ing scr,::,, r

Frame 0 rs sc:.:.::,,:

Irra;nc I&2 arc,.-: : .t:

Frame 3 & 4 a;c sr.,-.:. ,r.r:. .

Frame {. S & t) ari sr.itl r,.),,

Explain PrinciPles
CSMA/CD Protocol

of operation
used in LAN.

Address/Mask
13s.46 s6.o 122
r 3s 46.60 .O 12.2
l ')l j.l -+() (l' ):l

Next hJP
interface 0

interface 1

Router 1

r\,-ri[('r ,

:-t ll',rrlril'css(-s
ir.,,t l{ (. I
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5. (a) What is the difference between static
and dynamic routing ? Given network
topologr below, use link-state algorithm
to compute the route from node A to
all the other nodes. 4+6

(b) Discuss how Simple Mail Transfer
Protocol (SMTP) works. Can multimedia
messages be transmitted using SMTP ?

6

(c) What is the purpose of the Address
Resolution protocol (ARp) ?

4

6. (a) What are the deficiencies of Ipv4 ? How
IPv6 was modified to overcome these
deficiencies ? What are the advantages

(b) What do you understand by ,,three way
handshake" ? Explain TCp segment
header. Differentiate between TCp and
UDP protocols. 2+4+4

7. (a) What is the advantage of traffic
shaping ? Describe the token bucket
algorithm. What is the difference
between token bucket and lealcy bucket
algorithm ? 2+4+4

(b) Define Hamming Code. Find out the
code word for the user data 1010110.

2+5

(c) Defrne piggzbacking and its usefulness.

2+7

8. (a) A Stop-and-Wait protocol use lOOKbps
link, which have round trip propagation
delay 25Oms. Find out the percentage
of time the sender is blocked for
acknowledgement, if the frame size istOObifs. 

s

of using Ipv6 ?
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Differentiate the following : (ang three)

(iit)

(iu)

(u)

Connection-oriented
and connectionless

Selective repeat ARQ and
Go-Back-N ARQ

HTTP and FTP

LAN and VLAN

TDMA and FDMA.
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